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Read the following instructions carefully before you begin to answer the
questions.

IMPORTANT INSTRUCTIONS

1. This Question Booklet contains 150 questions in total.
2. All questions carry equal marks.

3. An Answer Sheet has been provided inside the question booklet to mark your answers. You must write
your Roll Number, encode it, and fill in other particulars in the space provided on the Answer Sheet. Failure
to do so will resultin your Answer Sheetnot being evaluated.

4, Immediately after the commencement of the examination, you should check your Question Booklet and
attached Answer Sheet to ensure thatthe Question Booklet Series printed on the top left-hand corner of the
Booklet matches the encoded series on the Answer Sheet. Additionally, check that the Booklet contains
printed pages, including two pages for Rough Work. Ensure thatno page is missing, unprinted, torn, repeated,
or mismatched with the Answer Sheet. If you find any defect in this Booklet or attached Answer Sheet,
request a replacement immediately with a complete Booklet and OMR sheet of the same series.

5.1In case of any printing or factual errors, the English version of the questions will be treated as the
standard.

6. You must write your Roll Number in the space provided on the top of this page. Do not write anything
else on the Question Booklet.

7. Questions and their responses are printed in both English and Hindi versions in this Booklet. Each
question has four options: (A), (B), (C), and (D). You are to select ONLY ONE correct response and mark it
on your Answer Sheet. If you believe there is more than one correct response, mark the one you consider
the best. In any case, choose ONLY ONE response for each question.

8. In the Answer Sheet, there are fourcircles: A, B, C, and D, corresponding to each question. To answer the
questions, use a Black/Blue ink ballpoint pen to mark ONLY ONE circle for each question. Do not mark more
than one circle for a question, as the answer will be considered wrong. Any changes or erasures are not
allowed.

9. For each question for which a wrong answer or more than one answer has been given, one-third (1/3) of
the marks assigned to that question will be deducted as a penalty.

10.You should not remove or tear off any page from the Question Booklet. You are not allowed to take the
Question Booklet and Answer Sheet out of the Examination Hall during the examination. After the
examination concludes, you must hand over your Answer Sheet to the Invigilator. Afterward, you may take
the Question Booklet with you.

11.Failure to comply with any of the above instructions will lead to appropriate action or penalty, as
decided by the Commission.
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1. Which of the following is an example of a
commonly used insecticide?

A. Bordeaux Mixture

B. 2,4-Dichlorophenoxyacetic acid (2,4-D)
C. Dichloro Diphenyl Trichloroethane (DDT)
D. Glyphosate

2. Among the following pairs of planets, in which is
Primerly CO, (carbon dioxide) found in their
atmosphere?

A. Earth and Mercury
C. Venus and Mars

B. Mercury and Saturn
D. Venus and Saturn

3. Which of the following properties is not exhibited
by ionic compounds?

A. Solubility in water

B. Electrical conductivity in solid state

C. High melting and boiling points

D. Electrical conductivity in molten state

4. What is a syngas ?

A. A mixture of CO, H,, CO, and N,

B. A mixture of CH,4, O, and CO

C. A mixture of CH,4, CO,, N, H, and O,
D. A mixture of H, and O,

5. Which of the following is not a synthetic polymer?
A.PVC B. Nylon
C. Polystyrene D. Resin

6. Nitrogen-fixing bacteria belong to which type of
microorganisms?
A. Eukaryotic

C. Azotobacter

B. Prokaryotic
D. Cyanobacteria

7. Which of the following tests is conducted to find
out whether an athlete has taken any performance-
enhancing drugs?
A.EEG

C. ELISA Test

B. Narco Test
D. Dope Test

8. A plant cell wall is made up of?
A. Cellulose B. Carbohydrate
C. Lipid D. Lipoprotein

9.If a teacher is showing spiny (thorny) leaves to
students, then he is teaching about which type of

plants?
A. Halophytic B. Hydrophytic
C. Epiphyte D. Xerophytic

10. Which property of DNA makes it suitable for
storing genetic information and transmitting it from
one generation to the next?

A. Complementarity of the two strands

B. Double helix structure

C. Number of base pairs per turn

D. Sugar-phosphate backbone




g
(i) Qrare (ii)
(iii) PP (iv)

fc:

A HId (i), (ii) 3R (i

B. dd (i), (iii), (iv) 3R (v)
C. %4 (i), (ii), (iv) 3R (v)
D. (i), (ii), (iii), (iv) 3R (v)

13. Foferiad fausdide Sde! &1 3Te! ug!
feufoal & Ty fiamsu:

favsaide Sde
%%ﬁ%wﬁum
(i) 3fafdy faysaids
(iii) U1 favies
ST H

fRufar
A T 3R SIS Bt

B. UG el & U
C. T ARSI &

A. (i) >C, (i) - B, (iii)) » A
B. (i)— A, (ii) - B, (iii) » C
C. ()-B, (i) - A, (iii))» C
D. (i)—C, (i)~ A, (iii) > B

14.9 fYTHTN, R USRS & a9 T BT
TG-S BT §, 3 Hed 6-

A fagioe sifvifgsar
B. T SMfNfohar
c. fgfarumm siftfosar
D. fa=yTgA iy

15. Fafafed 7 ¥ o9-T 1 HeeT uHE & fore
IR 3?2

A ST A

N B. TECIo
C. G SISHISS D, SIS
16. T Tcd B URHTY] IRSAT 16 Td SoqdH AT 32
8, O ST Iufyd e ot e farat 87
A.8 B.10
C.14 D.16

17. 50 AR URddI & A1y TSUIel & aab U
giadH &I Aafoied 8 9 fod ufthar & =0 8 o1
ST 87

A ORI
B. 3fSYUSHH
C.
D.

DR

11. Which of the following pairs of quantities have
the same dimensional formula?

Force and Pressure

Torque and Work

Momentum and Energy

Power and Force

oowe

12.Which of the following are included in the Plant

Kingdom?

(i) Algae (ii) Pteridophytes
(iii) Fungi (iv) Gymnosperms

(v) Angiosperms

Code:

A. Only (i), (ii), and (iii)

B. Only (i), (iii), (iv), and (v)
C.Only (i), (i), (iv),and (v)
D. (i), (ii), (iii), (iv), and (v)

13. Match the following meristematic tissues with

their correctlocations:

Meristematic Tissue Location

(i) Apical Meristem  A.In the periphery of stem
and roots

(ii) Intercalary Meristem B. Near the nodes

(iii) Lateral Meristem  C. At the tips of stem and

roots

Code:

A. () -C (i))—» B, (i)~ A

B. (i)—A (ii))—B, (i) —=C

C. (A)-B,(ii))—A(gi)—=C

D. (i)—=C, (ii))— A (iii))—»B

14. The reactionsin which ions are exchanged
between reactants are called-

A. Decompositionreaction

B. Combination reaction

C. Double displacementreaction

D. Displacementreaction

15. Which of the following gases is responsible for
the greenhouse effect?
A. Water vapor

C. Sulfur dioxide

B. Nitrogen
D. Oxygen

16.An elementhas an atomic number of 16 and a
mass number of 32. How many neutrons are
presentin it?

A.8 B.10

C.14 D.16

17.What is the process called in which the tadpole
undergoes transformation into an adult with
significant changes?

A. Senescence

B. Gonadogenesis

C. Mutation

D. Metamorphosis
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(A) 80 mm of Hg

(B) 100 mm of Hg

(C) 120 mm of Hg

(D) 140 mm of Hg
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18. What is the normal systolic blood pressure in
humans?

(A) 80 mm of Hg

(B) 100 mm of Hg

(C) 120 mm of Hg

(D) 140 mm of Hg

19. With reference to supercomputers, consider the
following statements:

1. Supercomputers use only one large central
processing unit.

2. PARAM Gangais exclusively prepared for ISRO
to help in its space research.

3. Param Shivay is the firstindigenously
assembled supercomputer in India.

Which of the above statements is/are correct?
A.1only

B. 3 only

C.1and 3 only

D.2 and 3 only

20.Whatis 40 degrees Celsius in Fahrenheit?
A.104°F B.100°F
C.102°F D.75°F

21.Which of the following quantities does not have
a unit?

A. Stress

B. Relative density

C. Strain

D. more than one of the above

22.Which of the following represents a
fermentation process?

(A) Conversion of starch into sugar

(B) Conversion of sugar into alcohol
(C) Conversion of protein into sugar
(D) Addingyeast to make alcohol

23.When the temperature of a semiconductor
increases, its resistance:

A. Increases

B. Decreases

C. Remains the same

D. Firstincreases, then decreases

24.Why do water droplets shine on the leaves of a
lotus?

A. Refraction

B. Total Internal Reflection

C. Diffraction

D. Reflection

25. Which of the following is the least sweet?
A. Glucose B. Fructose
C. Sucrose D. Lactose
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26.Match the following fruits and their edible parts
correctly:

1. Apple- (a) Central fruit wall
2. Wheat - (b) Embryo and endosperm
3.Mango - (c) Flower base

4. Jackfruit - (d) Perianth bundle and seeds
(A). 1(0), 2(b), 3(a), 4(d)
(B). 1(b),2(a),3(d), 4(c)
(©). 1(a),2(b),3(c),4(d)
(D). 1(d),2(c), 3(b), 4(a)

27.Which of the followingis the vector for the
malaria parasite?

(A) Male Anopheles mosquito

(B) Male Culex mosquito

(C) Female Anopheles mosquito

(D) Female Culex mosquito

28. Which of the following elements is considered to
have been discovered first?

A. Copper B. Gold

C. Oxygen D. Uranium

29.Which of the followingis a non-conventional
source of energy?
(A) Petroleum
(C) Tidal Energy

(B) Natural Gas
(D) Coal

30. Which one of the following statements about

human blood is correct?

(A) Plateletsare responsible for oxygen transport

(B) White blood cells provide immunity against
infections

(C) Red blood cells help in blood clotting

(D) Plasma contains only red blood cells

31.Read the following statements carefully and

choose the correct option:

A. Both acids and bases change the colour of all
indicators.

B. If anindicator changes colour with an acid, it
does not change colour with a base.

C. Ifanindicator changes colour with a base, it
does not change colour with an acid.

D. Colour change in acids and bases depends on
the type of indicator used.

(a)A,BandC

(b)Aand D

(c)B,CandD

(d) Only D

32. Arrange the followingin chronological order:
a.Satvahanas  b. Vakatakas c. Chalukyas
Select the correct code from the following:
A.a-c-b B.c-a-b

C.a-b-c D.b-c-a
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33. With reference to the Tamil kingdoms, consider

the following statements:

1. Inthe Pandya kingdom, horses were imported
overland from north-western India.

2. Thetitle Enadiwas given to army generals.

3. The Pariyar people were agricultural labourers
engaged in leather work.

Which of the above statements is/are correct?

(@) Only 1 and 2

(b) Only 2

(¢) Only 2 and 3

(d)1,2and3

34. Which dynasty divided the year into twelve lunar
months?

(a) Vashistha
(c) Mathar

(b) Nala
(d) Maan

35. Which Gupta ruler is referred to as "Parama
Bhagavata" in the Nalanda copper plate?

(a) King Chandragupta I

(b) King Samudragupta

(¢) King Chandragupta II

(d) King Kumaragupta I

36. Which of the following sculptures found in the
Sanchi Stupa is not directly inspired by Buddhist
ideas?

(a) Empty seat

(b) Shalabhanjika

(c¢) Tree

(d) Wheel

37.Regarding Srimanta Sankardev, which of the

following statements is/are correct?

1. Inthe latter half of the 15th century, Sankardev
emerged as the leading proponent of
Vaishnavismin Assam.

2. Hewas the founder of Gaudiya Vaishnavism.

3. Histeachings are famous as Bhagawati Dharma.

4. Heencouraged the establishmentof Satra and
Namghar.

Choose the correct answer using the code below:

(@) Only 1 and 2

(b) Only 2 and 3

(c)Only 1, 3, and 4

(d)1,2,3,and 4

38. Which of the following was not included in the
Nehru Report (1928)?

(A) Joint electorates

(B) Separate electorates for Muslims

(C) Full protection of cultural rights for Muslims
(D) Responsible government at the Centre
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39."Who is known as the 'Bharatiya Burke’?
(A) Mahatma Gandhi

(B) Surendranath Banerjee

(C) Jawaharlal Nehru

(D) Subhas Chandra Bose

40. When was the Bengal Partition announced?
(A) 19th July 1905

(B) 16th October 1905

(C) 1st]January 1905

(D) 15th August 1905

41. When was the Punjab Hindu Sabha established?
(A) 1905 (B) 1907
(C) 1909 (D) 1911

42. During which movement was Hindi adopted as
the national language of the country?

(A) Swadeshi Movement

(B) Civil Disobedience Movement

(C) Non-cooperation Movement

(D) QuitIndia Movement

43. When was Dr. Rajendra Prasad elected as the
President of the Constituent Assembly?

(A) October 1947 (B) December
1946

(C) January 1948 (D) June 1949

44. Where did the Vaghra Rebellion take place?
(A) Ahmedabad (B) Vadodara

(C) Surat (D) Rajkot

45.1n 1932, after the Poona Pact, the Harijan Sevak
Sangh was established. Its president was:

(A) Mahatma Gandhi

(B) Amrit Lal Thakkar

(C) Ghanashyam Das Birla

(D) Lala Lajpat Rai

46. In the context of Bengal administration, the Dual
Government system introduced by Robert Clive
(1765-1772) can best be described as:

A. The East India Company directly exercised both
Diwani and Nizamat powers.

B. The Nawab enjoyed complete authority, while
the Company remained only a supervisor.

C. The East India Company acquired Diwani rights
(revenue collection), while the Nawab continued
with Nizamat rights (justice and administration
of law & order).

D. Bengal was jointly governed by the British
Crown and the East India Company through a
dual arrangement.
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47.Consider the following statements Regarding

Lord William Bentinck

1. He served as the last Governor-General of
Bengal

2. He playeda crucial role in the Suppression of
Thuggee

3. In 1835, he introduced English as the medium
of instruction in educational institutions

Which of the statements above is/are correct?

(A) 1and 2 only

(B) 2 and 3 only

(C) 1 and 3 only

(D)1,2and 3

48. Consider the following statements regarding the
tenure of Lord Curzon
1. The Indian Coinage and Paper Currency Act
(1899) was introduced during Curzon's rule
2. The first Agricultural University in Bihar was
established at Samastipur
3. The Imperial Cadet Corpswas established in
1901 to provide military training to the Indian
aristocracy
Which of the above statements is/are correct?
(A) 1, 2,and 3 only
(B) 1and 3 only
(C) 2 and 3 only
(D) 1 and 2only

49. Consider the following statements regarding the
views of prominent figures on the Indian National
Congress (INC):
1. Lord Lytton-described the INC as a microscopic
minority of the population.
2. Aurobindo Ghosh-referred to the Indian
National Congressas a “begging institution”.
3. B.G.Tilakremarked-“Ifwe croaklike a frog
once a year, we will get nothing.”
Which of the statements above is/are correct?
(A) 1and 2 only
(B) 2 and 3 only
(©)1,2,and 3
(D) 1 only

50. Lord Lytton introduced the Forward Policy by
replacing which of the following policies during his
time as Viceroy of India?

(A) Masterly Inactivity Policy

(B) Dual Government Policy

(C) Doctrine of Lapse

(D) Non-Intervention Policy

51.Who is known as the father of Dyarchy?
(A) Sir Robert Clive (B) Lord Curzon
(C©) Sir Lionel Curtis (D) Lord Mountbatten
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52. Consider the following assertion and reason

Assertion (A):Lord Canning, the first Viceroy of India,

established universities in Calcutta, Madras, and

Bombay in 1857.

Reason (R): During his tenure, the East India

Company was abolished, and control was transferred

to the British Crown, initiating direct British rule in

India.

Choosethe correctoption:

A. Both Assertion (A) and Reason (R) are true, and
Reason (R) explains Assertion (A).

B. Both Assertion (A) and Reason (R) are true, but
Reason (R) does not explain Assertion (A).

C. Assertion (A) is true, but Reason (R) is false.

D. Assertion (A) is false, but Reason (R) is true.

53. The Battle of Wandiwash (1760) was fought
between which two powers?

(A) The British and the Portuguese

(B) The French and the Marathas

(C) The British and the French

(D) The British and the Nizam of Hyderabad

54. Which Mughal ruler ordered the sacking of the
Portuguese port of Hooghly in 1632 due to their
piracy and involvementin the slave trade?

(A) Akbar (B) Shah Jahan

(C) Aurangzeb (D) Jahangir

55. Consider the following statements regarding the
Zamindari (Permanent) Settlement introduced by
Lord Cornwallis in 1793:

1. The Zamindari Settlement was implemented in
the provinces of Bengal, Bihar, Orissa, and
Varanasi, covering about 19% of British India.

2. The revenue was fixed permanently under this
settlement, and Zamindars were recognized as the
owners of the land, responsible for paying
revenue to the East India Company.

Which of the above statements is/are correct?

A) 1 only

B) 2 only

C) Both 1 and 2

D) Neither 1 nor 2

56.Match the personalities with the places where they
led the revolt during the 1857 Uprising.
Personality Place of Revolt

A) Kunwar Singh 1) Kanpur

B) Nana Saheb 2) Faizabad

C) Maulavi Ahmadullah  3) Jagdishpur, Buxar
D) Begum Hazrat Mahal 4) Lucknow

(A) A-3,B-1,C-2,D-4

(B) A-1, B-3,C-2,D-4

(C) A-3,B-2,C-1,D-4

(D) A-1,B-2,C-3,D-4
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57.Who translated the Atharvavedainto Persian
during the Mughal period?

A. Abdul Hamid Nagori

B. Haji Ibrahim Sirhindi

C. Khafi Khan

D. Malik Mohammad Jayasi

58.During the Sultanate period, the Sun Temple in
Gaya has an inscription that mentions the Sultan's
name twice. Who is this Sultan?

A. Alauddin Khalji

B. Qutbuddin Mubarak Khalji

C. Muhammad bin Tughlaq

D. Firoz Shah Tughlaq

59. Which of the following terms is associated with
the practice of Sufism?
A.Jizya

C.Mugaddam

B. Ijma
D. Murid

60. Who among Shah Jahan's sons was awarded the
title 'Shah Igbal’?
(A) Dara Shikoh
(C) Aurangzeb

(B) ShahShuja
(D) Murad Bakhsh

61. Which of the following saints were
contemporaries of Chhatrapati Shivaji?

A. Tukaram B. Chaitanya Mahaprabhu
C.Namdev D. Shankaracharya

62.Which of the followingrulersissued copper
coins called 'Jital'?

A. Muhammad bin Tughlaq

B. Firoz Shah Tughlaq

C. Iltutmish

D. Quli Qutb Shah

63.Which of the following statements is correct?

A. Mizoramis the first state in modern India to
achieve functional literacy status.

B. ULLAS: Understanding Lifelong Learning for All
in Society

C. Ladakhis the first Union Territory (UT) in India
to achieve full literacy as an administrative unit.

D. All of the above

64. Which of the following statements about the

black box is false?

A. Ithelpsin investigating aircraftaccidents and
incidents.

B. Itisofablack color.

C. It can withstand temperatures of over 1000°C.

D. None of the above
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65. How much is the value of the commemorative
coin issued by the Prime Minister at the Lokmata
Devi Ahilyabai Women Empowerment Conference,
2025?
A.50
C.275

B.150
D.300

66. Consider the following statements related to the
Pahalgam terroristattack and its geopolitical
consequences:

1. The Cabinet Committee on Security (CCS)
formally decided on April 23,2025, to 'suspend’
the Indus Water Treaty of 1960.

2. The SAARC Visa Exemption Scheme (SVES) has
restricted the travel of Pakistani citizens to
India.

3. Underthe Indus Water Treaty, all six rivers of
the Indus Basin have been allocated to Pakistan.

4. On April 22,2025, terrorists attacked in the
fields of Baisaran Valley, about 7 km from
Pahalgam in Anantnag district of South
Kashmir.

Which of the above statements are correct?

A.Only 1 and 3

B.Only 2, 3,and 4

C.Only 3 and 4

D.Only 1, 2,and 4

67.Which pillar was added in the LEADS report of
20247

A. Infrastructure

B. Competition

C. Sustainability and Equity Logistics

D. Labor Productivity

68. Consider the following statements:

1. Accordingto ISFR-2023, the total forest cover
in Indiais 7,15,343 square km.

2. Thisis 25.17% ofIndia’s total geographical
area.

Which of the above statements are false?

A.Only 1

B. Only 2

C.Both1and?2

D. None of the above

69. Which of the followingis India's firstborder

solar village?
A. Masali B. Banaskantha
C. Suigam D. Modhera

70.In which languages was the Indian Constitution
released on the 75th anniversary of its adoption?
A. Hindi and English

B. Sanskritand Maithili

C. Hindi and Sanskrit

D. Hindi and Maithili
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71.Under the National Education Policy (NEP)
2020, the goal for the Gross Enrolment Ratio (GER)
in higher education, which was about 27% in 2019-
20, is set to reach what percentage by 20357

A . 40% B.50%

C.60% D.70%

72.Under whose chairmanship did the Union
Cabinet approve 'Mission Mausam'?

A. Prime Minister Narendra Modi

B. Dr. Jitendra Singh

C. Amit Shah

D.V. Narayan

73.Under the UPS scheme, on what basis will the

basic pension be determined?

A. Based on the total length of service

B. Based on the last salary

C. Basedon the average basic salary of the last 12
months

D. Sum of basic salary + grade pay

74.Consider the following statements regarding the

Global Peace Index (GPI), 2025:

1. Thisindexwas released by the Institute for
Economics and Peace (IEP) on June 18,2025.

2. Iceland secured the position of the most
peaceful country with a score of 1.095.

3. Indiaranked 115thwith a score of 2.229.

4. The Middle East and North Africa (MENA)
region was declared the least peaceful region in
the world.

Which of the above statements are correct?

(A) Only 1,2,and 3
(B) Only 2,3,and 4
(C)Only 1, 3,and 4
(D)1,2,3,and 4

75.1n the 2024 U.S. Presidential Election, who did
Donald Trump defeat?

(A) Joe Biden

(B) Kamala Harris

(C) Hillary Clinton

(D) Barack Obama

76.Which of the following statements is incorrect

with reference to the Union Budget 2025-26?

(A) The budget proposes the implementation of the
Indian Language Book Scheme.

(B) The FDI limit in the insurance sector has been
increased from 74% to 100%.

(C) The revenue deficit is estimated to be 2.5% of
GDP.

(D) The BharatNet projectwill provide broadband
connectivity to rural schools and health centers.
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77. Consider the following statements regarding Axiom

Mission 4:

1. On]June 25, 2025, Indian astronaut Shubanshu
Shukla was sent to the International Space Station
(ISS) through Axiom Mission 4 (Ax-4).

2. In Axiom Mission 4, the SpaceX Dragon spacecraft
was launched using the GSLV MKk Il rocket.

3. The launchtook place at Cape Canaveral, Florida,
from Kennedy Space Center Launch Complex 39A.

Which of the above statements are correct?

(A)1land2

(B)2and 3

(C)1and3

(D) All1,2,and 3

78. Which company developed the world's first
topological quantum chip, Majorana 1?

(A) Google

(B) Microsoft

(C) Amazon

(D) IBM

79..Which is India’s 49th Biodiversity Heritage Site?
(A) Arittapatti, Tamil Nadu

(B) Kasampatti VeeraKoil, Tamil Nadu

(C) Ghariyal Rehabilitation Center, Uttar Pradesh
(D) Shri Siddheshwar Swami ]Ji BHS, Karnataka

80. According to the IQAir 2024 report, which is the
most polluted capital city in the world?

(A) New Delhi (B) Kabul

(C) N'Djamena (D) Dhaka

81. What is the first indigenously developed antibiotic
by India, which was launched on November 20, 2024?
(A) Mikanaf (B) Chloramphenicol

(C) Nefithromycin (D) Amoxicillin

82. Match the following List-I (Person) with List-II
(Position/Appointment) and choose the correct answer
using the codes given below:
List-1 (Person) List-1I (Position/Appointment)
a. Shaktikanta Das 1. Chairman of Securities
and Exchange Board of India
2. Principal Secretary to

PM Narendra Modi
3. Chairman of the GSMA
Board for the telecom sector
4. Cabinet Secretary

b. Tuhin Kanta Pandey
c¢. T.V. Somanathan

d. Gopal Vittal
Codes:

A) a-2,b-1,c-4,d-3
B)a-1,b-2,c-3,d-4
C)a-2,b-3,c-1,d-4
D) a-3,b-1, c-4,d-2
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83. Consider the following statements regarding
India's first mobile-based e-voting system launched in
Bihar:

1. The system was implemented in Bihar for the
municipal elections on January 28, 2025.

2. Thee-SECBHR app developed by C-DAC ensures
security through blockchain technology and
biometric verification.

Which of the above statements is/are correct?

(A) Only 1

(B) Only 2

(C) Both 1 and 2
(D) Neither 1 nor 2

84. Which two rare Ayurvedic manuscripts have been
rejuvenated by the Central Council for Research in
Ayurvedic Sciences (CCRAS)?

(A) Charak Samhita and Sushruta Samhita

(B) Dravyaratnakaranighantuh and

Dravyanamakaaranighantuh
(C) Ashtanghridaya and Bhaishajyaratnavali
(D) Narayanakarchandra and Charak Samhita

85. Consider the following statements regarding the

connection of Aizawl to the national rail network:

1. In May 2025, Aizawl was connected to the
national rail network through the new Bairabi
Serchhip railway line.

2. Aizawlis the first capital in the Northeast to be
connected to the rail network.

Which of the above statements is/are correct?

(A) Only 1

(B) Only 2

(C)Both 1 and 2

(D) Neither 1 nor 2

86. Match List-1 with List-Il and choose the correct
code from the options given below:

List-I (Place) List-1I (Event)

a. Dibrugarh 1. India’s first beggar-free city

b. Indore 2. Declared second capital

c. Mohali 3. First blomanufacturing institute

d. Vadodara 4. Inauguration of C-295 aircraft
manufacturing

Code:

A.a-1,b-2,c-3,d-4
B.a-2,b-1,c-3,d-4
C.a-2,b-1,c-4,d-3
D.a-3, b-2,c-1,d-4

87.To honor Bihar's rich heritage and global
influence, where is the first Bihar Day being organized
in the USA?

(A) San Francisco

(B) Texas

(C) New York

(D) San Antonio




88. I SAPICH! a1 Ao RIPR 2025 &

Wﬁﬁaﬁqg@@uﬂ%’r% 5

1. Ad & [ 98 REBR Wi GorRl
STefayA & fegfoem

2. B 98 R®R Hfaarvue TH §¢ aRg Bl
UeH fear |

3. 3IUSH § g8 QREBR GI&0r A0S Hydr
FHEIa1 & TS TR TR TUg &1 e

el fdhey gAu:

(A) Fad 1 3R 3

(B) I 1 3R 2

(C) Had 2 3R 3

(D) 1,2 3R 3

89. AN fagR O feeRM Ul faftics &
fyeRUT b urat o) AU T T8V ot TREMTT-2024
@T......... DR AT TG

(A) 74 (B)

(C) raf (D)

90. fIeR & IRNEARRSIEERIEEE
e 98 gar @Hﬁ%%ﬂww
SR S H gai 82

(A) Slo AMEATER ~ (B) Slo YHYTI TATH

() STo =ta fiysm (D) Sfo fyam

91. eﬂqﬁa@naﬁ&'ﬂ@?ﬂa 2025 T
R & fra e g e mn e

(A) IR (B) TS

(C) Jdf IHRuT (D) Uit durur

92, fRrefe f3a9-2024 & TR W
T4 A feR & oo <l Rrerai o1 fmarg?
(A)%Q‘q’m

(B)'S] EZANAG PUR GA

(C) ST. 3{APT I+ Td Reh=ax A1g

(D) g BeH Td Arfa=t dey

93. T TaS{ Ao & SR Fafafaad @
PH-TT HTRIHH

o1 g3 U
A. ThIhd g
B. ATHIUT YFAGH SR TR AT
c. S faw™ HriwH
D. 3{cTey 3 o

94, HRAH BT ¥ P AT BT TWBR & g

e I5T GRT T 87

A Uy 3R e AT § U1 T

B T, WWSﬁ?aﬁﬂ?ﬁmﬁﬁé‘ﬂm
ST gall ! T &M &1 3R &Fare dgmT

D PR AR P BRI TRBR o Ao T B} 3T

GlEE

88. Which of the following statements are correct
regarding the Sahitya Akademi Bal Sahitya Puraskar
20257

1. The award for Sanskrit was given to Preeti Pujara
for 'Baalvishwam’.

2. The award for Hindi was given to the poetry
collection 'Ek Bate Baarah’.

3. The award for English was given to the collection
based on the retelling of mythical stories titled
'Dakshin’.

Choose the correct option:

A) Only 1 and 3

B) Only 1 and 2

C) Only 2 and 3

D)1,2and3

89. North Bihar Power Distribution Company Limited
was awarded the ........... prize in the category of
distribution companies at the National Energy
Conservation-2024.
(A) First

(C) Ninth

(B) Second
(D) Third

90. Which biologist from Muzaffarpur district of Bihar
discovered a new drug for pneumonia, whose
publication appeared in an international journal?

(A) Dr. Aditya Shekhar  (B) Dr. Samsul Imam

(C) Dr. Neet Mishra (D) Dr. Nitya Pandey

91. In which district of Bihar was the three-day
Buddhist Festival 2025 held?

(A) Vaishali (B) Gaya ji

(C) East Champaran (D) West Champaran

92. On the occasion of Teacher's Day 2024, which two
teachers from Bihar were honored by President
Draupadi Murmu?

(A) Sanjana Devi & Slesh Kumar

(B) Dr. Meenakshi Kumari & Sikendra Kumar Suman
(C) Dr. Alka Rani & Sikandar Sahu

(D) Nitu Madam & Savitri Madam

93. Which of the following programs was not launched
during the Sixth Five-Year Plan?

A. Integrated Rural Development

B. Rural Landless Employment Guarantee Scheme

C. Dairy Development Program

D. Antyodaya Anna Yojana

94, What is the biggest threat to the government from

the generation of black money in India?

A. Investing in property and expensive houses\

B. Investing in gold, jewelry, and precious stones

C. Giving large donations to political parties and
increasing regionalism

D. Loss of governmentrevenue due to tax evasion
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95. In an economy, the money multiplier increases with
which of the following?

A. Increase in Cash Reserve Ratio (CRR) in banks

B. Increase in Statutory Liquidity Ratio (SLR) in banks
C. Increase in people’s banking habits

D. Increase in money held by RBI

96. As per the latest Economic Survey 2024-25 of Bihar,
Biharisa -

A. Revenue Deficit State

B. Revenue Surplus State

C. Revenue Neutral State

D. State with Negative Growth Rate

97. Under which Act were Regional Rural Banks (RRBs)
established in India?

A. Regional Rural Banks Act, 1970

B. Regional Rural Banks Act, 1976

C. Regional Rural Banks Act, 1980

D. Regional Rural Banks Regulation Act, 1975

98. RBI announced its latest monetary policy on 6th June

2025 after the 55th Monetary Policy Committee meeting.

Which of the following statements is correct?

1. The policy repo rate was reduced by 50 basis points
to 5.50%.

2. The Marginal Standing Facility (MSF) rate was set at
6.50%.

A.Only 1

C.1land 2

B. Only 2
D. Neither 1 nor 2

99. If the primary deficit is zero, what will be the amount
of borrowing?

A. More than interest payments

B. Less than interest payments

C. Equal to interest payments

D. None of the above

100. Which of the following method is most suitable for
infusing liquidity in the economy immediately?
A.Reduction in repo rate

B. Reduction in reverse repo rate

C. Reduction in SLR

D. Reduction in CRR

101.. What does the Washington Consensus refer to?

A. Reforms in Bretton Woods institutions

B. A set of free-market economic policies

C. Reforms in multilateral agreements under the World
Trade Organization

D. Reforms in European and North American trade
blocs

102. From which fund is the money received from the
sale of National Savings Certificates (NSC) deposited in
the Government of India?

(a) Consolidated Fund of India

(b) Prime Minister's National Relief Fund

(c) Public Account of India

(d) Contingency Fund of India
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103. When was Bihar declared a separate province,
and the capital of India was shifted from Calcutta to
Delhi?

(A) December 12,1905

(B) December 12,1911

(C) January1,1912

(D) August 15,1947

104.Whatis the total number of Sub-divisionsin
Bihar?
(A) 534
(C)38

(B) 101
(D) 103

105.105. Recently, Jansuraj President Prashant
Kishor stated that Rahul Gandhi might not be aware
of the names of Bihar's 40 districts, including the
two police districts. Which two police districts is he
referring to?

(A) Bagaha and Patna

(B) Bagaha and Nawgachhia

(C) Patna and Bhagalpur

(D) Nawgachhia and Darbhanga

106. Which of the following districts in Bihar border
Nepal?
1. West Champaran
3. Sitamarhi
5.Purnia
7.Kishanganj
(A)1,2,3,4,6,7
(B)1,2,3,4,5,6
56,7
7

2. East Champaran
4. Madhubani
6. Araria

1]

(©)2,3,4,5,6,
(D)1,2,4,5,6,

107.In which districtis the Neolithic site of Chechar
located?

(A) Saran
(C) Patna

(B) Vaishali
(D) Rohtas

108. Which term is used in the Shatapatha
Brahmana to refer to the Tirhut and Mithila regions
of Bihar?

(A) Kikat

(B) Videha

(C) Vratyas

(D) Magadha

109.Who is referred to as Kunika in historical
records?

(A) Ajatashatru
(C) Chandragupta

(B) Bimbisara
(D) Ashoka

110. Who was the founder of the Kushan Dynasty,
and which Samvata did Kanishka start?

A) Kujula Kadphises; Gupta Samvata

B) Kujula Kadphises; Shaka Samvata

C) Kanishka; Vikram Samvata

D) Kanishka; Shaka Samvata
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111. Consider the following statements regarding the

Kalinga War:

1. The Kalinga War was fought in the 9th year of
Ashoka’s reign 361 BC.

2. Following the Kalinga War, Ashoka proclaimed
that he would no longer engage in warfare, as
mentioned in his 13th Major Rock Edict.

Which of the above statements is/are correct?

(A) 1 only

(B) 2 only

(C) Both 1 and 2
(D) Neither 1 nor 2

112. Who was the father of Samudragupta?
(A) Chandragupta 1

(B) Chandragupta Maurya

(C) Kanishka

(D) Ashoka

113. Who wrote Tabqat-i-Nasiri, a crucial historical
work on Bihar’s history?

(A) Ibn Battuta

(B) Minhaj-us-Siraj

(C) Ziauddin Barani

(D) Amir Khusrau

114. . In which year was the Nalanda University Act
passed to revive Nalanda University?

(A) 2005 (B) 2010

(C) 2015 (D) 2020

115. Loknayak Jai Prakash Narayan (JP) hailed from
which place?
(A) Patna

(C) Sitab Diara

(B) Gaya
(D) Muzaffarpur

116. Which of the following statements about the state

of Bihar is accurate?

1. Bihar is the 12th largest state in India by area.

2. As perthe 2011 Census, Bihar’s population is
104,099,452, making up 9.6% of India’s total
population.

3. Bihar ranks 3rd in population among all Indian
states.

(A) 1 and 2 only

(B) 1and 3 only

(©)1,2,and 3

(D) 1 only

117. Which is the largest tribe in Bihar?
(A) Santhal (B) Oraon
(C) Kherwar (D) Munda

118. In which district of Bihar is Muchilinda Lake
located, a site of historical significance in Buddhism?
(A) Patna

(B) Gaya

(C) Bhagalpur

(D) Nalanda




HE YUl AT

forr iy,

Result Mitra 30U RICaRM d& 3T JTY
WW%Gﬁvaﬂﬁmwmlsﬁcommitment &
a1y, gH ol foram g T 20 fRder @ 719 BPSC MAINS
Bl S IR = @t ot g ol fayr 8 f e
BPSC PRELIMS TRI&T 1 3(@g I<I0] Bl | SAMIT UG
THY 3§ TP BT Tal, Ifch MAINS Bt AR} ) Tgt

Wﬁﬁapproach%ﬂﬂﬁﬁ?ﬁmwmﬁ
F18!

fafea 8 f& fUsct 70df BPSC MAINS T
RIS O AR THT 40% U WRI&T T 3T Y| 39 dR
(71df BPSC MAINS) 8H =41 3fdeN &4 & fou ufdes
g1 37 I, 39 AR &I 1Y ¥ OH T S| 3T,
Result Mitra MAINS ¢X¢ IRIS U0 & 1Y 983X
dga} Ufdw & fore dgax uiumw &1 Jffda &9
YUdiq

9235313184, 9667693596




119. fSER & forg o & HRape STavurd fud 22
(A) gy (B) PR
(C) TR (D) ATciar

120. T &1 JaY e fo Fas) Mreme (Northern
Hemisphere) ﬁﬁ@?ﬂ%

(A) TIHT 21 (B) TTHT 21 S
(C) ATHT 23 RaraR (D) 1T 22 e

21. 1—@"1 FR‘ (Selsmlc Waves) & ey H
$ :

[N

5

>_\

p o RIS R ged Ugdl o Bld1 & 3R S
TN Y IR fars A B

p T H, Yy &b U a T b fG=n H SM-gie
%am%savﬁﬁwawaﬂ%m%
maﬁnﬁraﬂ?r%

SR & A -1/ BT T8 8/87

(A) Had 1

(B)éo—da
01
(D)Tdr1 Gﬁ?qﬁr 2

122. Fiad 1§ feuu uddl & UeR) &1 fiem
Piad 11 H 3T 7T 3 fqavur/3arerun ¥ Sifu|

WY (UAd P UPR)  &H I (FUIH/ISTe0N)

1.afeg uda A. 3G SaTAngd! verdf & ¥ag
T fafifa (BfemeR udd, gt uda)

2UN-WETAd B YIS H A AEH B
WS b I I I (R Aara)

3SAANEI Udd ¢, faadf-e aal & IRl
mﬁ%a%aaﬁﬁcﬁﬁa(%mm e

793 gad D. SR P} 3R S ;%;{
agmuva‘rm&rmaf\m@aﬁ%@

119.1n which district of Bihar can you find the
Karkart Waterfall?
(A) Rohtas

(C) Gaya

(B) Kaimur
(D) Nalanda

120.When does the longest day of the year occur in
the Northern Hemisphere?

(A) Around March21  (B) Around June 21
(C) Around September 23 (D) Around
December 22

121. Considerthe following statements regarding

seismic waves:

1. P wavesarerecorded firston a seismograph,

appearing before S waves.

2. In P waves, the ground particles move back and
forth in the direction of wave travel, whilein S
waves, the particles move perpendicular to the
wave direction.

Which of the statements given above is/are correct?

(A) 1 only

(B) 2 only
(C)Both 1and 2
(D) Neither 1 nor 2

122. Match the types of mountains in Column I with
their descriptions/examples in Column IL

Column II
(Description/Example)

Column |
(Type of Mountain)

1. Fold Mountains A. Formed by the
accumulation of solidified volcanic materials
(Mount Kilimanjaro, Mount Fuji)

2. Fault-block Mountains B. Result from the uplift of
blocks of rock along fault lines (Sierra Nevada)

3.VolcanicMountains  C. Formed by the folding
of rock layers due to tectonic forces (Himalayas,
Alps, Andes)

4. Dome Mountains D. Characterized by
upwarped, circular-shaped rock
layers (Black Hills, Vosges)

Options:

(A) 1-C,2-B,3-A,4-D
(B) 1-B,2-C,3-D,4-A
(C)1-D,2-A,3-B,4-C
(D)1-A,2-D,3-C,4-B
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123.Whichriver serves as a major tributary of the

Teesta River in Sikkim?
(A) Brahmaputra River
(C) Ganga River

(B) Rangit River
(D) Yamuna River

124. Which of the following is an Artificial lake
located in Tamil Nadu?

(A) Kodaikanal Lake
(C) Pulicat Lake

(B) Ooty Lake
(D) Chilika Lake

125.Consider the following statements about the
Vindhya and Satpura ranges:

1. The Vindhya Range is located north of the

Narmada River.

2. The Satpura Range lies south of the Narmada
River and runs roughly parallel to the Vindhyas.
Which of the statements given above is/are correct?
(A) 1 only

(B) 2 only

(C) Both 1 and 2

(D) Neither 1 nor 2

126.Which of the following glaciers are correctly
located in the Uttarakhand and Himachal Pradesh
regions of India?

1. Milam Glacier - Uttarakhand

2. Chota Shigri Glacier - Himachal Pradesh

3. Satopanth Glacier - Uttarakhand

(A) 1 and 2 only

(B) 2 and 3 only

(C) 1 and 3 only

(D) 1,2 and 3

127. Which of the following statements about the
Nallamala Hills is/are correct?

1. They form a part of the Eastern Ghats.

2. They are mainly situated in Andhra Pradesh.
(A) 1 only

(B) 2 only

(C) Both 1and 2

(D) Neither 1 nor 2

128.The Sunda Strait is located between which of the
following islands?

(A) Sumatra and Java

(B) Java and Bali

(C) Borneo and Sumatra

(D) Sulawesi and Java
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B) 13.5
D) 19.2

135, [s& 'DIARY' & 31&RI ¥ foba- Xeq ST ST
Thd g, HA 81 3 g gl?

(A) 24 (B) 54

(C) 180 (D) 120

136. TG DI BT H 25% PI Jfg b SR, Th
fdd 1,200 T H 6 fvdll HH I1a9d WRig 1380
81 919d &1 ufd frammy ga o iad @ 2t

(A) Rs. 30 (B) Rs. 40

(C) Rs. 50 (D) Rs. 60

137. Teb BT 5 ol /e ol 71 & wrefeh 310 o)
I 5 d 15 e Ugd ugadn § 3R 3 fdt gt ot
T ¥ IADR a8 9 He & Y Ugad 81 3P W
AR R F o Pt g3 fobat 87

(A) 5 Tt

(B) 8 foril

(©) 3 fopet

(D) 2

129.The Gandikota canyon, a famous natural
landmarkin South India, has been carved by which
of the followingrivers?
(A) Cauvery
(C) Pennar

(B) Manjira
(D) Tungabhadra

130. Which city functions as both the capital and the
principal portof Trinidad and Tobago?

(A) Kingston (B) Port of Spain

(C) Bridgetown (D) Georgetown

131. Which city is popularly referred to as the
“Manchester of South India”?

(A) Chennai (B) Coimbatore

(C) Bangalore (D) Madurai

132.Choose the number from the following options
that should replace the question mark (?) in this
series: 16,33,100,401,?
A) 1235

C) 1588

B) 804
D) 2006

133.1f80% of a number is 768, what will be 40% of
5% of that number?
Al6.4
C.20.6

B.13.5
D.19.2

134. What are those two natural numbers whose
productis 2400 and the sum of whose squares is
52007

(A) 120,20
(C) 75,32

(B) 60, 40
(D) 80,30

135. How many words, no matter if they are
meaningless, can be formed by the letters of the
word 'DIARY"?
(A) 24

(C) 180

(B) 54
(D) 120

136.Asaresultof a 25% hike in the price of rice per
kg, a personis able to purchase 6 kg less rice for Rs.
1,200.What was the original price of rice per kg?
(A) Rs.30 (B) Rs. 40

(C)Rs.50 (D) Rs. 60

137.Walkingat 5 km/hr a student reaches his
school from his house 15 minutes early and walking
at 3 km/hr he is late by 9 minutes. What is the
distance between his school and his house?

(A) 5km

(B) 8 km

(C) 3 km

(D) 2km




138. 39 fds e &1 Ig HIfoE o1t - S 118
fefaaal o a1 9 g T TR 31eR Y7a Bl
RIS

L P QS KPS KP QL__PQS
(A) KPLPLQLSPK (B) PKLPQPLSKP
(C) KPLPQQLPSK (D) KPLPQLPSKP

139. U [oh_ ATl I1ad D] ohd o R 97
P11 Bl g, AfbT 1 fpaum & ferw 870
U PHTAH ! dIe HRATS | STBTATH
Tf=Td T BT (Gl SRHd R A Tah) |
(A) 11.11% (B) 14.94%

(C) 15.11% (D) 18.21%

A gD B 2:5%
el S

3P AMIAT3:5F

SATEa BT ST RIS
(A)13:11 (B)4 11
(C)11:15 (D) 15:4

141.A, BHISET8I C, BHIATI D, ¢ BT fuar
%IE DA AR A D A g UBR T

A) TTaT B) GIdl

C) ot D) Urait

142. R-FACI T (IPU) B 150dT
HT BT TS Hgl bl TT?

(a) 7T feeeit (b)

(c) ARG )

;géﬁy%ﬁﬁgm‘fﬁ@(ﬁqmwgﬁﬁm
T EOIER EaRs R e

@Tar - 40

(b)ITWRES - 70

(©oH BIQ_? - 62

() STRYUCK - 403

144, FafaRed IAfa® <ol )R faR
BT 3R I 3B RITTAT &
DIAHUMIR HaRRYd DI |

1. Sgo 9HTS UTef

I1. gHTIATG! gref

1. O] &= ATt

IV. 31T S0Sa1 quid B

i 3T T e T 5t IR &1 99 HIfod|
(@ IL L IIL IV

(b) L IL III, IV

138. Select the option that represents the letters
that when placed from left to right in the blanks
below will complete the letter series.
L_P_QS_K_P_S_KP_Q_L__PQS

(A) KPLPLQLSPK (B) PKLPQPLSKP

(C) KPLPQQLPSK (D) KPLPQLPSKP

139.A grocer professes to sell rice at the cost
price, but uses a fake weight of 870 g for 1 kg.
Find his profit percentage (correct to two
decimal places).
(A)11.11%

(C) 15.11%

(B) 14.94%
(D) 18.21%

140. The radii of the two cones are in the ratio of
2 :5 and their volumes are in the ratio of 3 : 5.
What is the ratio of their heights?

(A)13:11 (B)4:11

(©)11:15 (D)15:4

141. Ais B's sister. Cis B's mother. D is C's father.
E is D's mother. How is A related to D?

A) Grandfather B) Grandmother

C) Daughter D) Granddaughter

142. Where was the historic 150th session of the
Inter-Parliamentary Union (IPU) held?

(a) New Delhi

(b) Dubai

(c) Tashkent

(d) Geneva

143. Which one of the following pairs is not
correctly matched?

State — Number of Legislative Assembly Seats
(a) Goa— 40

(b) Uttarakhand — 70

(c) Manipur — 62

(d) Uttar Pradesh — 403

144. Consider the following political parties and
arrange them in chronological order of their
establishment:

[. Bahujan Samaj Party

II. Samajwadi Party

[II. Telugu Desam Party

IV. All India Trinamool Congress

Choose the correct answer from the codes below:
(@) IL, L 110, IV

(b) L1, IIL, IV

(o L LIL IV

(d) UL 1L, I, IV

©OTLLIL IV
(d) 1L, 11, I, IV




145. YRd H Gau1e famrg & Teuf o
FafiRd U R faaR &3-

1. 1773 BT AT T Ugal aR fofesr g
SRT YR o TR & FAEd dvA & g
ST T AT

2.1833 &1 TR Uae = YRA | faurdt uapan
R P 3R Ta-R SR B! faumdt wifga
UG |

3. 1858 T HRd TRBR AAFTH URA H gy
MM (Dyarchy) B YSATT FRAT] |

SUded § ¥ HH-91/4 HY Te1 8/8?

(a) Pad 1 3R 2 (b) PaA 1, 2
3R 3

(c) Had 2 (d) Had 1

146. YRd & Yautfe JuRl & %H A fAafafad
fIFaat H ¥ fog sififay & aga el
T’ (Federal Court) @1 RITUT &1 HIGHUT
T?

(a) 1919 BT YR WHR HfAfgn

(b) 1935 BT HRd RBR HfATH

() 1858 T HRd WHR MUfgH
(d) 1947 BT HRA WaAar fafaq

147. Fafafed 9 - g YRd &
e Pt UehTees fagvar &1 gxifdt 87

(a) U T 1 gy Tfau™

(b) Sy grguIfereT

(c) 3HRId YR ar3ff P} TawAT

(@) I H gyt Il o e ufafAfda

148. Fufafeaa daufe uauri o136 Iid
0 3 e} Rrer BT

A Tiferd fIPR- 1. 3ARPT

B. IS yumat - 2. fseq

c. ffafeTe aa- 3. 3mRds
D.INggaRIT- 4. FHTS]

gl Pe:

(a) A-1, B-2, C-3, D-4
(b) A-2, B-1, C-3, D-4
(c) A-3, B-4, C-1, D-2
(d) A-1,B-3, C-2, D-4

145. Consider the following statements in the
context of constitutional development in India:
1. The Regulating Act of 1773 was the first law
passed by the British Parliament to regulate
administration in India.

2. The Charter Act of 1833 established legislative
unification and granted legislative power to the
Governor-General.

3. The Government of India Act, 1858 introduced
Dyarchy in India.

Which of the above statement(s) is/are correct?
(@) Only 1 and 2

(b)1,2,and 3

(c) Only 2

(d) Only 1

146. In the sequence of constitutional reforms in
India, which Act provided for the establishment
of a'Federal Court'?

(a) Government of India Act, 1919

(b) Government of India Act, 1935

(c) Government of India Act, 1858

(d) Indian Independence Act, 1947

147. Which of the following reflects the unitary
features of the Indian Constitution?

(a) Separate Constitution for each state

(b) Dual judiciary

(¢) Provision of All-India Services

(d) Equal representation of all states in Rajya
Sabha

148. Match the following constitutional features
with their source countries:

A. Fundamental Rights — 1. USA

B. Parliamentary System — 2. Britain

C. Directive Principles of State Policy — 3.
Ireland

D. Federal System — 4. Canada

Correct Code:

(a) A-1,B-2,C-3,D-4

(b) A-2,B-1,C-3,D-4

(c) A-3,B-4,C-1,D-2

(d) A-1,B-3,C-2,D-4




149, Iy ) yxara1 ¥ Tefdd Rafefaa

FHYF IR faaR H3-

1. U1 &I 42d WAy I=meA ffafas,
1976 GRT AN fovam T 7|

2. HRAME YR FH HIA NI (1973)
A A gt <ararad = |1 f TRara
T3y &1 e T8t g |

3. S 9RIdIG (1960) ¥ Yat Ared =
Fel fob TRATa D1 TG BT SR
HHT S FohdT 8, Afh1 I8 e & fopait
3T R YTl 751 o Gbat |

4, ot ey §9M9 YR 99 (1980) AT |
ol graTerd 3 gl P TRara- dfau™ &
Ud gl &1 fem g |

SUad 4 H-91/Q BUT LI 8/

(a) HIA 1 3R 3

(b) PaA 1, 3 3R 4

(c) PaA 2 3R 3

(d) Fad 1, 2 3R 4

150. Ffafed Y R AR &<-

1. YRd & AU H AyUfd o Uy SHeAne S
B B Wfad ARt Tfaum Y R e Bl

2. YRd o STATdehRTe - UTaUTT &1 DROT STHH
BSICHIR] (Weimar Constitution) @f?ﬂ"l'if%l
3.URA § TRy GHflefl 1 SauRu SIS &
IR A AT R

4. YRd P TIYT H TcidT, AT 3R e
& IR B g B ifd A R TR |
SUded § ¥ HH-91/Q HY T8 8/8?

(a) HIA 1 3R 3

(b) Had 2 3R 4

(c) Pad 1,2 3R 4

(d) Pad2, 3 3R 4

148. Consider the following statements regarding

the Preamble of the Constitution:

1. The Preamble was amended by the 42nd
Constitutional Amendment Act, 1976.

2. Inthe Kesavananda Bharati v. State of Kerala
(1973) case, the Supreme Court held that the
Preamble is not a part of the Constitution.

3. Inthe Berubari case (1960), the Supreme
Court said that the Preamble can be
considered the foundation of the Constitution
but cannot override any Article.

4. In the Minerva Mills v. Union of India (1980)
case, the Supreme Court held that the
Preamble is part of the basic structure of the
Constitution.

Which of the above statement(s) is/are correct?

(a) Only 1 and 3
(b) Only 1, 3, and 4
(c) Only 2 and 3
(d) Only 1, 2, and 4

150. Consider the following statements:

1. The power of the Indian President to issue
ordinances is inspired by the US Constitution.

2. Emergency provisions in India are inspired by
the German Weimar Constitution.

3. The concept of Judicial Review in India is
derived from the Canadian Constitution.

4. The ideals of Liberty, Equality, and Fraternity
in the Indian Constitution are borrowed from the
French Revolution.

Which of the above statement(s) is/are correct?
(a) Only 1 and 3

(b) Only 2 and 4

(c)Only 1,2, and 4

(d) Only 2, 3,and 4
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